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Let k4_tarski : t==1=>1 be given. Let k6_numbers : ¢ be given. Let k7_borsuk_6 :
t be given. Let np__1 : ¢ be given. Let vl_zcmple 0 : =0 be given. Let
k6_xemplz_0 : 1=>1=-1 be given. Let v1_zreal 0 : t=>0 be given. Let rl_zxreal 0 :
t=>1=0 be given. Let ul_struct_0 : 1= be given. Let k17_borsuk_1 : v be
given. Let ml_subset_1 : :=1=-0 be given. Let vl_zboole 0 : t=-0 be given.
Let k3_zemplz 0 : 1=1=¢ be given. Let vl_zxreal 0 : t=>0 be given. Let
v2_xzreal 0 : 1=0 be given. Let np_2 : . be given. Let m2_subset_1 :
t=1=>t=>0 be given. Let kl_numbers : ¢ be given. Let k5_numbers : ¢ be
given. Let k4_zemplx 0 : 1=-1 be given. Let k9_real_1 : :=1=>1 be given. Let
k8_real_1 : t=1=>1 be given. Let k1l_zboole 0 : ¢ be given. Let kb_topmetr : ¢
be given. Let v2_struct.0 : t=>0 be given. Let v2_pre_topc : t=>0 be given.
Let l1_pre_topc : t=0 be given. Let kd._borsuk_1l : 1=1=1=-1= be given.
Let k1l _zfmiscl : 1=t be given. Let v2_compts_1 : 1=>1=-0 be given. Let
vl_pre_topc : 1=-0 be given. Let v3_topmetr : t=0 be given. Let I1_struct_0 :
t=>0 be given. Let v3_membered : t=0 be given. Let k2_borsuk_1 : :=1=>t be
given. Let k2_tarski : t:=>1=>1 be given. Let kl_tarski : t=-¢ be given. Assume
the following.

VX0.(vl_xemple 0 X0)=(k6_zemplz_0 X0 k6_numbers = X0) (1)
Assume the following.

VX0.(vlzreal-0 X0)=(((rl-zareal_0 k6_numbers X0)A(rl_zxreal 0 2)
X0 np__1))=(X0 € ul _struct_0 k17_borsuk_1))

Assume the following.

VX0.¥X1.(ml_subset_1 X0 X1)=((vl-zboole-0 X1)V (3)
(X0e X1))

Assume the following.

VX0.(vl_zemple 0 X0)=(k3_xzcmplz_0 X0 k6_numbers = k6_numbers) (4)



Assume the following.

vX0.(vl_zareal 0 X0)=(VX1.(vl_zzreal 0 X1)=((
(rlzzreal 0 X0 X1)A(rl_zzreal 0 X1 X0))=(X0= X1)))

Assume the following.

VX0.VX1.VX2.VX3.(kd_tarski X0 X1 =
kd_tarski X2 X3)=((X0 = X2)A(X1 = X3))

Assume the following.
VX0VX1.(X0 e X1)=(ml_subset.1 X0 X1)
Assume the following.

((v2_zxreal 0 np_2)A(m2_subset_1 np_2 k1 numbers kb_numbers))A
((m1_subset_1 np_2 k5_numbers)\(ml_subset_1 np_2 k1_numbers))

Assume the following.

((v2_zzreal 0 np__1)A(m2_subset_1 np__1 k1_numbers kb_numbers))A
((ml_subset_1 np__1 k5_numbers)A(ml_subset_1 np__1 k1_numbers))

Assume the following.

kd_xemplz 0 (k4_xemplz 0 np_2) = np_2
Assume the following.

k4_xemplz 0 (kd_xemplz 0 np_1) = np__1
Assume the following.

VX0.VX1.((ml-subset_1 X0 kl_numbers)A(vl_xreal_0
X1))=(k9real .1 X0 X1 = k6_xcmplz 0 X0 X1)

Assume the following.

VX0.VX1.((ml_subset.1 X0 kl-numbers)A(vl_zreal-0
X1))=(k8real .1 X0 X1 = k3_xemplz 0 X0 X1)

Assume the following.
k6_numbers = k1 _xboole 0
Assume the following.

k5_topmetr = k17 _borsuk_1

(14)

(15)



Assume the following.

VX0.VX1VX2VX3.(((—v2-struct_0

X0)A((v2-pre_tope X0)A(I11_pre_tope X0)))A(((—v2_struct_0 X1)A
((v2_pre_topc X1)A(I11_pre_topc X1)))A((m1_subset-1 X2 (ul_struct_0
X0))A(ml_subset 1 X3 (ul_struct.0 X1)))))=(k4_borsuk_1 X0 X1

X2 X3 = Fkd_tarski X2 X3)

Assume the following.

VX0.((—v2_struct 0 X0)A((v2_pre_topc X0)A(I1_pre_topc
X0)))=(3X1.(ml_subset_1 X1 (kl_zfmisc_1 (ul_struct-0
X0)))A((—vl_zboole-0 X1)A(v2_compts_-1 X1 X0)))

Assume the following.

(=v2_struct_0 k17_borsuk_1)A((v1_pre_topc k17 _borsuk_1)A(
v2_pre_topc k17_borsuk_1))

Assume the following.

VX0.((v3-topmetr X0)A(I1_struct-0 X0))=-(v3_membered
(ul_struct_0 X0))

Assume the following.

VX0.(vlzreal-0 X0)=((vl_zemplz_0 (k4d_xcmplez0 X0))A
(vlareal 0 (kd_xemplz 0 X0)))

Assume the following.
v3_topmetr k17_borsuk_1

Assume the following.
VXO0.(I1_pre_topec X0)=-(I1_struct-0 X0)
Assume the following.

ml_subset_1 k7_borsuk_6 (k1_zfmisc_1 (ul_struct_-0 (k2_borsuk_1
k5_topmetr k5_topmetr)))

Assume the following.
[1_pre_topc k17_borsuk_1

Assume the following.

VX0.(ml_subset-1 X0 (kl_zfmisc_1 (ul_struct0 (k2_borsuk_1
k5_topmetr k5_topmetr))))=((X0 = k7_borsuk_6)<(VX1.(

X1 e X0)<(3X2.(ml_subset_1 X2 (ul_struct_0 k5_topmetr))A

(3X3.(ml_subset_1 X3 (ul_struct-0 k5_topmetr))A((X1 =

k4_borsuk_1 k5_topmetr kb_topmetr X2 X3)A((rl_zxreal 0 (k9_real_1
np__1 (k8_real_1 np__2 X2)) X3)A(rl_zxzreal 0 (k9_real_1 (k8_real_1

np-2 X2) np__1) X3)))))))

(16)

(17)

(20)

(21)

(22)

(25)



Assume the following.

VX0.VX1.kd tarski X0 X1 = k2_tarski (k2_tarski X0

X1) (kltarski X0) (26)

Assume the following.
VX0VX1.k2 tarski X0 X1 = k2_tarski X1 X0 (27)

Assume the following.
VX0.(vl_zreal 0 X0)=(vl_zxreal 0 X0) (28)

Assume the following.
VX0.(ml_subset-1 X0 k1 numbers)=-(vl_zreal 0 X0) (29)

Assume the following.
VX0.(vl_xboole 0 X0)=(VX1.(ml_subset.1 X1 (kl_zfmisc-1 (30)

X0))=(v1zxboole-0 X1))

Assume the following.

VX0.(v3-membered X0)=(VX1.(ml_subset-1 X1 X0)= (31)

(vl_zreal 0 X1))

Theorem 1 VXO0.(kd_tarski k6_numbers X0 € k7_borsuk_6)=(X0 = np__1).



